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SECTION -1 9T - 1

Ql  Which Gurudwara is popular by the Q1 faqog Jgewar ASIS Hied © &H

name of Golden Temple? &8 HIAdd &
| (A) Baba Atal Sahib (A) FE WIS Afay

(B) Harmandir Sahib (B) Ifpifea afag

(C)  Takht Sri Damdama Sahib (C) 33 It eHeH Afa"
- (D)  Sri Akal Takht (D) i waE® 3u3 Afod

Q2  What are the animals of animal Q2 y<twar3 o fagR yet dig & I3t

kingdom that possess backbone? T H'Sd I&?
" (A) Protozoa (A) T (Protozoa)
(B) Bryozoans (B)  ferwaH (Bryozoans)
(C)  Vertebrates | (C) TIII"IITH (Vertebrates)
- (D) Arthropoda (D) WIHIUS" (Arthropoda)

Q3 is celebrated in martyrdom Q3 7t g Jifde fiw it 2 € 22
of two younger sons of Guru Gobind Afaaafent, Afasarer dareg fiy
Singh Ji, Sahibzada Zorawar Singh w3 g3fg ity & Ade! & ue <o

" and Fateh Singh. HaTfemr AT J1
(A) Rakshabandhan (A) FIEEHTS
(B) Baisakhi () fermdt
(C)  Guruparab | (€) IIUIH

" (D) Jor Mela (D) AITAS

#
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Q4

Q5

Q6

As per 73" constitutional amendment, Q4

what is the prescribed minimum age

to be chosen as a member of

Panchayat?

(A) 28 years
(B) 25 years
(C) 23 years
(D) 21 years

Which of the following schedules of Q5

the Constitution of India contains
details of Union, State and

Concurrent lists?

(A) Sixth

" (B) Seventh
(C) Fifth
(D) Third

Which article of the

* Constitution states that 'the State shall

not deny to any person equality

before the law or the equal protection

Indian Q6

73% Hifeosa RO © waH'g, Uofes
Heg ==6 B8 faguas w2 ue
g fdat &7

(A) 28F®
(B) 257
(C) 23FA®
(D) 217®

It fefan &8 93t Afeus &
fan wgmot g Aw, gw w3

AHEIS! Fow T /9T THS 37
A =2

(8) HI<

() A

(D) 3+t

I35t Afeas © faozr wigec fig
afder 3 fa Iw aba AonE fan &
fenast § mssr 3 feaag adt
S3ar 7 g9 @ fam & 2w e

of the laws within the territory of IE5 T AHG3T B Ifemir I391m?
~ India?' A) 2T 17
(A) Article 17 . i 14
(B) Article 14 e
i (C) MasT 15
(C) Article 15
(D)  Article 20 (D) WaEE 20
o S
QP2-BD/31584 (Page2)



Q7

Q8

Q9

Who among the following was Q7

elected as the President of India

unopposed / unanimously?
(A) Dr. Zakir Hussain
(B) VVGGiri

(C) N Sanjeeva Reddy

(D) Dr. APJ Abdul Kalam

The time gap between two sessions of Q8

the Parliament CANNOT be more
than:

(A) one month
(B) two months
(C)  three months

(D) six months

Which of the following union Q9

territories has the Lieutenant-

Governor as its administrative head?
(A) Delhi

(B) Chandigarh

(C) Lakshadweep

(D) Dadra and Nagar Haveli

mme*ameauéfgf‘inrﬁw
HI?

(A) F.afag gRs
) <. fardt
() W& Are IF

(D) 3. BULA. WETH I%H

e @ € AR’ fegdd AN wi3a®
. IFIgaaid Aaer 3

(A) fEg xS

(B) T HIWS

(c) TfEaHIs

(D) B HIS

@U-IHUS  (Lieutenant-Governor)
farer yErAe Ht 37

(A fEst

(B) TINF

(C) WBaRTY

(D) TTI W3 BT I=HI

/
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Q10 COVIRAP technology launched by Q10 NT HIFIYS THa BT &5t I

IIT Kharagpur will be used for COVIRAP Ia&I T L2321}
<g3 i3t A=l

L. Disinfecting medical gloves I HIlas THIS é‘EIT’§ Ha3

II. Diagnosis of covid-19

(A)  OnlyI Il. dfe3-19 © fous

B) Onlyll ® TRz

(C) BothTandII (B, TSR
() 1w3nee

(D) Neither I nor II
(D) & ITIE T

Qll Where was the ‘International Film Q11 s'g3 @ wiggaAedt fesH §3m
Festival of India 2020 hosted? 2020’ € Aaaat foa Jet?
(A) Bihar | A faog
(B)  Tamil Nadu (B) 3IMBEZ
(C) Goa () 3
(D) Odisha (D) €G3
Q12 Backbone of Punjab’s economy is Q12 iy @ wog-feeaeg € J1F
@ 33t JI
(A) tourism (A) AI-AUe
(B) agriculture _ (8) uwItEA
(C) trade (C) <=Ud
(D) industries D) Geuar

[
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Q13 Which constitutional amendment Q13 faagzt Afeasa RO & 'fAfumr @

established the ‘right to education’ as witerg & f&a gfenwr<t wifgerg |
a fundamental right? ' HEUZ d137?

(A)  61* constitutional amendment (A) 617 Afeasa Ag

(B) 73" constitutional amendment (8) 73% Afeosa Ay

(C) 86" constitutional amendment (c) 86 Afeasa AT

(D)  91* constitutional amendment D) 91% Hfeuraa A

Q14 Which of the following is an example Q14 3J& fEfaw &5 faot ufas! st @

of a 1¥ order lever? weg @ Geags &

(A) See-saw _ (A) Fﬁ-HW(ga'f)

(B)  Nutcracker (B) 5.,—6_%33

(C)  Door € I

(D)  Sugar tongs (D) HIS Ir:t

Q15 A Zila Parishad comprises: Q15 fAsr ufgnae feo

(A) all the Pradhan of a Panchayat AHE I T6
Samiti (A) Ugfes A3t @ A YT

(B) one-third of the Pradhan of a (8) U3 HH3I @ yos T fea-
Panchayat Samiti faomdt faar

(C)  two-thirds of the Pradhan of a (c) Jefes AH3t © yost T e
Panchayat Samiti f3gmt famr

(D) three-fourths of the Pradhan of (D) Wﬁ? ST © Yot T
a Panchayat Samiti 3a-gad famr

—_—.__.————__——————————_'—__.—_—————————
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Q16 Which is the longest river that flows

Q17

QI8

through Punjab?

(A)  Sutlej

(B) Ravi

(C) Beas

(D) Chenab

According to 2011 census, what is the
Urban Population percent of Punjab?
(A) 24.10%

(B) 27.65%

(C) 31.24%

(D) 37.49%

Which of the following articles of the
Constitution of India discusses the

procedure for the amendment of the

Constitution?

(A) Article 368
(B) Article 370
(C)  Article 360
(D) Article 310

Ql6 w3 3 s=t el fagdt 3, A Ua= &9

Q17

Q18

Bt 32

(A) H3BA
(8) I=t
(c)y TewA
(D) F&<

AS 2011 T HISHEHI! © WEHA'S,

Yo &t Afadt wraret yJias fdat
a2

(A)  24.10% |

(B)  27.65%

(C)  31.24%

(D)  37.49%

g3 @ AfeTs @ fegt wase K9
faaar Afens &g Ao & fedt =9
gdur g9 J? |

(A) WEeT 363

(B) w&e< 370

(C) WEsT 360

(D) WEET 310

/
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Q19 Who among the following leaders is Q19 Js &3 wamr T fam & i

also known as “Punjab Kesari”? ARG = @ Ao A &7
(A)  Vipin Chander Pal (A) feusdeaus

(B) LalaLajpat Rai () BT THUIIE

(C) Bal Gangadhar Tilak () =% deras f38a
(D) Rabindra Nath Tagore (D) Sfidfcgaw g

Q20 Who is the first Sikh guru and the one Q20 fHu" & ufas™ IF Ie I fans iy

who founded the Sikh faith? O9H o FEUST d131?

(A)  Shri Guru Nanak Dev Ji : (A) T I EEA B A

(B)  Shri Guru Ram Das Ji () HIIIHEAH

(C)  Shri Guru Har Gobind Sahib © I ISfEE wloa R

b Tt 91 99 fams wfad 7t
(D)  Shri Guru Har Krishan Sahib ( ‘) GUELE fepres

Q21 Which rock is formed by the slow Q21 faTsdt ges H3T e I Swd 3)

cooling of molten magma beneath firyd Hanr @ JE-JEt 68 T I96
(deep) the surface? HEol 97

(A) Sedimentary rock (A) 3IBSI TCH

(B) Igneous rock (B) nABHES BT

(C)  Metamorphic rock © gusfaz EA

(D) Dynamo Metamorphic rock () - Ffean Hedfed 8¢5

_#—__——_/_——_—_—_—//—;_—__—’—_
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Q22 Hornbill

Q23

Q24

Festival, 2020 was Q22

celebrated in which state of India?

(A)  Uttar Pradesh
(B) Mabharashtra
(C) Nagaland

(D) Kerala

North east of Punjab consist of (23

(A)  Shivalik mountains

(B) Himadri mountains

(C)  Himachal mountains

(D) Karakoram range

For which of the following Q24
applications, ISRO has launched

CMS-01 satellite in December 20207

L. Traffic Management

I1. Communication
(A) Onlyl

(B) OnlylI

(C) BothlandIl

(D) Neither I nor II

2020 © JI&5ES G3IAT (Hornbill
Festival), 393 © fam Iw &g
Hofem famir #i?

(A €3I YA

() HITHI

© @ardF

(D) dI\

g @3 usafRa _____|
(A faefesd ugs I6

(8) foredt uag 35

() foHosUTTIS

(D) FIEIH UITS HH 3

(ISRO) & THHT 2020 fR9 CMS-01

Aewde gig di3 7
. <fed yHus
. H9d

(A fAge|

®) fagz

() I3 2

(D) I I IS

_————————_———_———_——#

e ———— e s
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Q25

Q26

Q27

Which of the following diseases is Q25
caused by high fluoride concentration

in ground drinking water?

(A)  Fluorosis
(B) Botulism
(C) Giardia

(D) Amoebiasis

The Second Sikh War (against the (26
British) began with the revolt of

Dewan Mulraj, the
, in April 1848.

governor of

(A) Lahore

(B) Rawalpindi
(C) Multan

(D) Jalandhar

In which year was the University of Q27

Punjab found?

(A) 1857
(B) 1882
(C) 1919
(D) 1946

=B U féo 69 <8IHE AWEs
Fgs gerd? -

(A) TB3fAA (Fluorosis)

(B) SfBTH (Botulism)

(c) frmrafanrr (Giardia)

(D)  whHfEMITTAA (Amoebiasis)

e ity o (ffen @ fedm) wils
1848 ST T J=Isd
des HeIH ¢ feedd &5 WS
Jfenr i

>

(A) ®BII

() TSzt
(C) UB3IG
(D) TBUI

fagz me &9 e wsikeafd
(University of Punjab) T HE&T
Jet?

(A) 1857
(B) 1882
(C) 1919
(D) 1946

_—___—————___—_-——_—-————————_—g
QP2-BD/31584 ’
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Q28 Which festival in Punjab Q28 umg T faggr 3899 HEIS
commemorates the renowned demilg A &9 {3 § AHafuz
GuggaPir or ‘Snake God’? 7

(A) Chhapar Mela
(B) Jor Mela

(A) 8UIHE

. . () wHIFAT
(C) Bathinda Virasat Mela
(D) Roshni Da mela (c) =fé3 feans A
(D) IHSI T AT

Q29  Which fort is also known as Bathinda Q29 fogozr fagr =féz™ @ fag =

fort? wfenr Jer 37

(A) Maharaja Ranjit Singh Fort (A) HIIH IEAI3 Ay fagr
(B)  Qila Mubarak (8) fa@ yEga

(C)  Phillaur Fort | ) fedafag

(D) Bahadurgarh Fort (D) =IeIEy fagr

Q30 When was Mahatma Gandhi Sarbat Q30 A &g HI™3W™ It AS=3 feaA

Vikas Yojna launched in Punjab, e 9% #g o1t I A, A IH ©
which was implemented in state's U3 939 feg &g St ardl Al?
rural areas?
(A) 2015
(A) 2015
(B) 2011
B) 2011
(C) 2018
C) 2018
(D) 2021
(D) 2021

__——___.—_—_——_-——_—_—_—-—_m
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Q31 Particle of light is called: Q31 ya#H S b -é a afage I&82
(A) Photon (A) @25
(B)  Electron |) fEBads
(C)  Neutron (9) ﬁ?@iﬁ :
(D)  Proton ) f[???

Q32 What is the capital of Punjab after the Q32 1966 I =EmE Uag & IwATSEt
year 19662 faazt 32
(A) Chandigarh (A) B“B"]'cﬂﬁd'
(B) Patiala (B)  ufewrsT
(C)  Amritsar (C) ifizng
(D) Ludhiana (D) BT

Q33 Who initiated Triveni, which is a Q33 @&t & mHgw3 faws =idt =
form of Hindi/Urdu poetry? fd@gae afesr e gu 7
(A) Gulzar (A) dIIBAg
(B)  Amrita Pritam (B) WfE Yi3H
(C)  Rajinder Singh Bedi (c) Ifdea fily a5
(D) Nanak Singh (D) &&d fiy

QP2-BD/31584 (Page 11)



Q34 Sprinkler irrigation system is also Q34

Q35

known as

(A) Border strip irrigation

(B)  Subsurface irrigation

(C)  Drip irrigation

(D) Overhead irrigation

In which method seeds are Q35

germinated on top of one or more

layers of paper which are placed

either in enclosed transparent petri.
dishes or boxes and are kept in an
incubator or germinator?

(A) Germination in sand method

(B)  Germination in soil method

(C)  Between paper method

(D)  Top paper method

fagam (Sprinkler) fATE Y&t &

___ @fggraedl

(A) =I39 Afgy fiedl
(8) WH-AJSH Aol
© v figa

O ASSEALER ]

fam fedit &g simF § a9m & &
a7 for 3 € ugst © U9 WIS
fézr mer 3, fagt § 7 3 &
ygegnt dedt f3at 7 safm &9
Sfepr e 3, w3 & fesfageacy
A iy e &g Jfmr Aer 7

I3 f&g Jues fedi

(Germination in sand method)

(A)

@ it g wigs fedi
(Germination in soil method)

() o= fegara fedl (Between
paper method)

(D) 9NIA Q"UE!’ fedt (Top paper

method)

/
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SECTION -2

STl - 2

Q36 A man took a loan from a bank at the Q36 fai weit & 15% AW ATIE

Q37

rate of 15% p.a. simple interest. After
2 years he had to pay ¥ 3000 interest
only for the period. The prinéipal

amount borrowed by him was:

(A) T 15000
(B) %10000
(C) 30000
(D) T 45000

Amit can do a work in 20 days and (37

Barun can do the work in 30 days. If
they work on it together for 6 days,

then the fraction of the work that is

left is:
A) 172
(B) 1/4
©) 173
D) 1/6

feora & v9 '3 g9 3 €ug far
2 gt " 8RS fge fimre sd
Z 3000 fow+ €1 wetfedlt aaat ust
"l €A ©wa €ug fowr famr
HBTS U™ 33|

(A) T 15000
(8) 10000
(C) % 30000
(D)  Z 45000

wWiHz f&a 1 § 20 fest R a9
Aaer 3 w3 =596 O a1 § 30 et
fég 99 Aaer JI A €9 6 feat w8t

fer &1 & s 2 992 I5, FF A T

fdar fJA™ gt 59 Aredr?
(A 12
(B) 1/4
(c) 13
(D) 116

e ———————
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Q38 A can do a work in 30 days and B in Q38 A fia aH & 30 fest ffg w3 B €7

45 days. If they work on it together, aH & 45 fest f9 99 Aaer 31 A
then in how many days will the work 89 fiw & fan o1 § 9% T, 3°
get completed? i 4 feat e yar 3 Aream
(A) 25 days (A) 25fes
(B) 45 days B) 45fes

: (C) 18 days ©) 18fes
(D) 90 days () sofes

Q39 The ratio between the ages of Ram, Q39 gH, INH, ASH W3 iy & Gxa'

Ramesh, Suresh and Shyam is 2 : 7: TENESWS 278 12 3 °AS
8 : 12. The sum of ages of Ram and Ufgg™ g1 w3 In| Emff GHat T
Ramesh two years ago was 50 years. A7 50 A% Hl AT & TT3IHS
Find the present age (in years) of 8Hg (At <9) T u3™ Hard|
Ramesh.

(A) 42
(A) 42

(B) 47
(B) 47

C 49
C) 49 ©
D) 52 (D) 52

QP2-BDAISS4  (Pageld)



Q40  Two-third students of a class were Q40 f8a AHI @ o-f3oa fefewgst

Q41

Q42

present and it was 72. If % of the class

are girls, then the total number of

girls are:
(A) 108
B) 18
C) 36
(D) 90

5

If the product of % and x is — , then Q41

28

reciprocal of ‘x’ is:

A 2
B) =
© =
D) =

A car covers a distance of 83.7 km in Q42

2.7 hours. The average distance

covered by it in 2 hours is:

(A) 55km
(B) 45km
(C)  62km
(D) 31km

I™gI As W3 fog Aftwr 72 A1 A
3 9 - 3w e, 3 g @

I8 Aftmrr fdat 32
(A) 108

(B) 18

(C) 36

(D) 90

A 2
® =
© =
®

féa arg 2.7 uifewt f<T 83.7 km Tt
3 et J| fer 8 2 wfewr Ko

3w ATt WA gt fdat 37
(A) 55 km
(B)  45km
(C) 62km
(D)  31km

ﬂ——_—————————_’-—_—————.—_————
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Q43 The mean of 6 observations was 192. Q43 6 fadiyst T »WaHs 192

Q44

One of the observations was
incorrectly recorded as 162 instead of

126. What is the correct mean of the

observations?
(A) 173
(B) 156
(C) 186
(D) 168

Two numbers are 25% and 40% more Q44

than a third number. What is the ratio

of these two numbers?

(A) 25:28
(B) 28:25
(C) 5:8
(D) 8:5

QP2-BD/31584

fodhrst &9 fEa & B3t 55 126
© =5AfE 162 fagaraz w3 famr)

fedhyst T At Hon's ot 32
(A) 173
(B) 156
(C) 186
(D) 168

T Hftmpet 3t Afeor 3 25% w3
40% =0 I5| fegst © Hitmprer T
WU & 32

(A) 25:28
(B) 28:25
(C) 5:8
(D) 8:5
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Q45 The given bar graph represents the Q45 &3 famir 979 92 A™S 2004-2010

exports of three companies X, Y and
Z during the years 2004-2010. Study
the graph carefully and answer the

question that follows.

Exports of three
companies (in X Crores)

100
80
60 X
40 BY
20 Vi

20042005 2006 2007 2008 2009 2010

In which of the following years were |

the exports made by company 'Z'

eos 36 dquah X, Yy w3 z @
fsous & Tamge I e =
witmls 33 w3 Jst €3 yms =
833 fe6l

3 duashr T fagus (3337

S
100
80
60 & X
40 mY
20 + L Y4

0

2004 2005 2006 2007 2008 2009 2010

Jot s &9 faa3d A Just 'z
g i3 famr fagus, &3 I

exactly equal to the average exports et g fore g a3 4379 wWHI
made by it over the given years? foguag @ aava;r T
(A) 2004 (A) 2004
(B) 2005 (B) 2005
(C) 2006 (C) 2006
(D) 2007 (D) 2007
QP2-BD/31584 (Page 17)



Q46 The given line graph shows the Q46

Q47

Number of patients

number of patients cured in a hospital
over the years 2008 to 2014. Study
the line graph and answer the

question that follows.

100 85
50 » 70
55 & 50 P
. 4 ! #
60 40 "
30 o v
40 Ww’-”\
15 s
20
0

2008 2008 2010 2011 2012 2013 2014

year

The increase in the percentage of

cured patients from 2013 to 2014 is

approximately:
(A)  30%
B)  29%
(C)  40%
(D) 41%

Number of patients

How many 3-digit numbers can be Q47

formed with the digits 1, 2, 3,4 and 5
which are divisible by 5 and in which

the digits are not repeated?

(A) 24
B) 6
C) 12
D) 8

fé3r dfewr 3y JIge i gAuss
<o A 2008 3 2014 fST 39 I
HIAT € faredt vawger &1 Iy
J9e T wimls ad w3 yas e
€39 fegl

100
80
60
40
20

0
2008 2009 2010 2011 2012 2013 2014

year

2013 3 2014 ©I® 3F dT T8

HatT &t YStasar <9 e e
T Jfemm?

(A)  30%

(B) 29%

(C) 40%

(D) 41%

1, 2, 3, 4 W3 5 wdf &8 3-wa T
fasr Aftmret & f3wrg &3 &

AaTE 3 7 5 &% I IS s’
ST wig TI98 & 7AE?

(A) 24

(B) 6

€) 12

(D) 8

R R B |

QP2-BD/31584
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Q48 The value of 25.5 4 0.255 + 2.55+ Q48 25.5+ 0.255 + 2.55 + 0.0255 + 255
0.0255 + 255 is: | T NG & 372
(A) 283.56
(A) 28356
(B) 283.5855
(B)  283.5855
(C) 283.305
(C)  283.305
(D) 283.3305
(D)  283.3305
49 The selling price of 10 pencils is 049 10 A=sfAst T feadt dH3I. 15
g p p Q )
equal to the cost price of 15 pencils. A& T T3 N3 © 59789 I
Then, the loss or gain percentage is: 3 TSI A B'F T YFEI U3t 43|
(A)  50% loss (A)  50% TS
(B)  50% gain (B) 50%TIF
(C)  25%loss (C)  25% T&t
(D) 25% gain (D) 25% &'F
QP2-BD/31584 (Page 19)



Q50 Find the largest 4 digit number which Q50

Q51

Q52

is divisible by 41.
(A) 9981
(B) 9978
(C) 9991
(D) 9963

Find the overall change in the Q51
quantity, if it is first increased by 40%
and then decreased by 40%.

(A) No change
(B) 16% decrease
(C)  10% increase

(D)  14% decrease

A man sells one machine for ¥ 960 at (52
a profit of 20% and another for T 480
at a loss of 4%. Find the approximate

overall gain.

(A)  20.1%
B) 14.2%
C) 15%

D) 10.8%

€T <31 3 <3 4 niat & Aftrr u3T

T3 7 41 578 YIs 39 3 I I
(A) 9981
(B) 9978
(C) 9991
(D) 9963

3T g migl 3=yl v uzr
®sarg, A fer § ufast 40% Tafenr
Aer 3 w3 fag 40% werfenr Fier
31

(A) I8 IEEH &t

(B) 16% wWrer

(C) 10% =0

(D)  14% wrer

gt vt fia Hits § 20% 33 3

Z 960 g w3 f&a da Wil & 4%
Tt 3 T 480 &7 2T I WSHSS

Y '3 T U3T a3l
(A)  20.1%

(B) 14.2%

(C) 15%

(D)  10.8%

R R R R R R RAAREREEEEeeeeeeeeeee—e—e—¥Y——/—/—m/m/—/— ]

QP2-BD/31584
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Q53 Following frequency polygon Q53 faHasfafyz adag3T ggId AS ©

represents  distance  travelled in < T HIlfew ST 3w it wr3ar
Kilometres on Y axis in various 8 Y udt 3 fadhitest adf w3 x gt
months of a year on X axis by 3 Hifenr It egrrger I
months.
1400 +
& 1200
1400 & 1200 ! =
P 1200 B o0 | 10@7//”\
B 120 — g il \
E ‘. 109‘9”/,f \ g s R = N
8;030 800 7 \ B g0 i, 1 \\
2 800 Ao # |
E i v \ g o *‘:} o
y = A ” \ 5 2001 %
% \ é ‘
B 400 +—30 2 04 ; - :
E:“ w» %& JANUARY  FEBRUARY  MARCH APRL MAY JUNE
A (MONTHS)
JANUARY  FEBRUARY  MARCH APRL May JUNE
(MONTEHS)
fena3t evrar A Hatfonr &g 3w
Which is the average distance (in A3t w39 & WA gl (»'23!3"ilaai
kilometres) travelled by the person in f&g) foat 32
all the months?
(A) 750
(A) 750
B 700
(B) 700 ()
(C) 800 (C) 800
(D) 900
(D) 900

———————————————————— el
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Q54 A sum invested at 4% per annum Q54 feq f&=2@ St IIH 4% ABST
ATIS feonrd 3 3 Arst g fanre
e gu 39 2 1,920 I g 3| foem

Q55

simple interest yields an interest of ¥

1,920 after 3 years. What is the sum

invested?

(A) 18,000
(B) 12,000
(C) R 16,000
(D) 19,200

The number of students present in a Q55
class during a week are shown in the

given bar graph. Study the bar graph

and answer the question that follows.

SISt 31t gaH fdat 32
(A) ¥ 18,000
(B) ¥ 12,000
(C)  ¥16,000
(D) ¥ 19,200

fea ge3 <96 A3 8 Iwg
fefenrasio @ foest & f63 @
g 9 fo Tonfewr famr 3
T9 ITE T wimls 33 w3 It

&3 yms T g339 el
No. of Students
Present No. of Students
200 Present
150 200
100 150
50 100
0 =
N N N N WA\
®o° Qe?b &gfjb \Q\)@b & ,b"“b oob'b* évb'b* éjb'z’A é,t‘;"A Q{\b'b*‘ \)&q’*
$® @ N QPQ «‘(\0 (3
Q
What is the difference between the
maximum and minimum number of Iag fefenrgdg  <g 3 <g w3
students present? W 3 ufe farest &g wiza fdar 32
(A) 70 (A) 70
(B) 80 (B) 80
<© 75 () 75
(D) 65 (D) 65
QP2-BD/31584 (Page22)



SECTION -3

Q56 Find out the missing number in the Q56 Jat f&F BF &g JUI Hiwr Uz

Q57

Q58

QP2-BD/31584

given series.

13,19.5,39,97.5,7

(A) 1365
B) 195

(C) 2437
D) 2925

Select the combination of letters that Q57

when sequentially placed in the
blanks of the given letter series will

complete the series.
_nm_om_nmn_m_nm
(A) nomom

(B) onmon

(C)  oonnm

(D)  onooo

Select the letter-cluster that can Q58

replace the question mark (?) in the

following series.

CBYX, EDWV, GFUT, ?

(A) HIRS
(B) ITHSR
(C) IHRS
(D) HISR

S9r1-3
a3l
13, 19.5, 39, 97.5, ?
(A) 136.5
(B) 195
(C)  243.7
(D) 2925
wHg' T §9 ANS gF A fa &3t ad

"Hg BF e wyE e &g
3I3ETT II& 3 B § YT I3
_nm_om_nmn_m_nm

(A)  nomom

(B)  onmon

(C)  oonnm

(D)  onooo

& yms o5 (7) @ = 8 74l

CBYX, EDWV, GFUT, ?

(A)  HIRS
(B) IHSR
(C) IHRS
(D)  HISR

(Page 23)



Q59 Identify the figure from the options Q59 fegsur 3 €r fosg @ ugrs I3
that completes the given pattern? - frgs fa &3 2 degs & ygr aaer
37

(A) (A)
;;»f:‘; M*“x%
S

B) = - , (B)

C
© (©)
e
. *
S ) o
M g
(D) ~ fﬁ%m (D)

QP2-BD/31584 (Page 24)



Q60  Identify the figure from the options Q60 feamu ¥ n fosa & yzE 93
that completes the given pattern? frgs fa &3 98 degs & ygr gaer
37

)\\“\ ;f..'“f \ %
o \\ Y \
*x}_\ z‘x! > ol
"‘»x;i} o
( A) o z{/ f/’ b 3

(A)

B m—

N

(B) TS | |
® ¥

LN A1
G > # f?
W
{ L 2 ,{'
; \{: \ft
j p 8
S R
©)

(©)

(D) < —— . ~ /
® “
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Q61 Identify the pattern from the options Q61 feasy 3 @n fosg & us= a3
fgs fa &3 32 degs § yor a9

that completes the given figure.

| g
{ Vi
LW | S—-

A0
@

I

i

|

> e

2N

¥

R’

(A)
A
@0
(B)
A O
&
©
@A
(D)

QP2-BD/31584

3

(A)

(B)

(C)

(D)

A
Oge
.
o

Ol e

A

K

 dl <

O

4l o
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Q62 Arrange the following words in a Q62 J&" f&3 9@ AEE' § wIagUuds
3931 feu feenfazs 33 w3 Ad

meaningful sequence and choose the

correct order.

1.
2
3.
4,
5
(A)
(B)

©)
(D)

Q63  Select the number that can replace the Q63

question mark (?) in the following

series.

17,23, 30, 38, 2, 57
46
47

(A)
(B)
©
(D)

Q64  Select the number that can replace the Q64

question mark (?) in the following

series.

63, 124,215, 7,511

(A)
(B)
©)
(D)

Letter
Sentence
Word
Phrases
Paragraph
5,3,2,1,4
4,5,2,1,3
5,2,4,3,1
4,2,5,3,1

48

49

289
300
342
399

FH <t I I3

1 wyg

2 Tq

3. WET

4 TIH

5 iy

(A) 5,321,4
(B) 4,521,3
(C) 5,243 1
(D) 4,2,5,3,1

€n HAftmr & IT a3, 7 It 3t
sFt o yms fidg (7) €t 5 3 o
ATl I

17, 23, 30, 38, ?, 57

(A)
(B)
(©)
(D)

46
47
48
49

€n FAfumr € °F a9, 7 JdsF &3t
w4t R9 yns fdg (7) & & 3 wr
At |

63, 124, 215, ? , 511

(A)
(B)
(C)
(D)

289
300
342
399

QP2-BD/31584
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Q65 Ritwij starts walking towards the west Q65 fa3fer UeH €% g% #g I 3

and walks 11 m. Now, he turns to his
left and walks 17 m and then he again
turns left and walks 19 m. He now
again turns left and walks 10 m. He
takes a last left turn and walks 8 m.
How far and in which direction is he
standing with respect to his initial

position?

(A) North, 8m
(B)  South, 7m
(C) East, 8m

(D) West, 9m

w3 11 m ¥Se J| g 89 Wy v
HIer 3 w3 17 m guer I w3 fag
H9 HF 2 19 m 98T 31 T= €9
THI" 2 HFT I W3 10 m T8 I
Gowudtdr g 8er I w3 8 m
s 31 89 wruE ggwrst Afast @
ffg ugr J?

(A) €39, 8m
(B) THE, 7m
(C) UJd, 8m
(D) Y&H, 9m

Q66  Three different positions of the same Q66 Tt foa It UA T S5 Sy-<H
dice are shown below. Which symbol AfEI feurent I 951 '@' &
is on the face opposite the face TIA'EE T8 ud ¢ feddl g8 €3
showing '@'? fagar fdg 7
(A) # (A #

B) § B) $
<) % ) %
QP2-BD/31584 (Page 28)



Q67 Nikita ranked 84th from the top and Q67

Q68

Neil ranked 21st from the top. 20
students were ranked below Nikita
and above Namrata, who ranked
29th from the bottom. Find the total

number of students.

(A) 132
(B) 131
(C) 133
(D) 130

Which of the following answer figure Q68

completes the series of the question

figure?
QA A8 A2 |,
BRIRBIRE
S VAN

@w |2
AN

B) O] —
A-——-)

(©) - |©

(D) D

fodiz fAug 3 842 w3 38 fiug 3
217 AEs €3 J 20 fefewrasHt
fadizr 3 It 3 aHIsT 3 Qua
A&, Afa It F 29T Ags €3 Idh

fefenwrgs € 98 Aftr u3T 931
(A) 132
(B) 131
(C) 133
(D) 130
e wigSt € g3t § st aget &7
e[l [Ale][Ale][
~J8] [-[al[-[€
VA
L
A\ ] G
(B) e
A m——
o |
(D) d‘}j
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Q69 In this question, a statement has been Q69 fem yms &9, fid as I gme @

Q70

given followed by two conclusions
numbered I and II. Assuming that all
information in the statement is true,
analyse the two conclusions together
and determine whether any of them
logically and definitely follow(s)
from the information given in the

statement.

Statement : Money plays a very

important role in politics.
Conclusions:

I. All rich businessmen are

politicians.
II. No poor man is a politician.
(A)  OnlyI follows
(B)  Only II follows
(C) BothIand II follows

(D)  Neither I nor II follows

Find the missing term in the Q70

following letter series:

A2 Aftpr | w3 At || 83 a2

awlmﬁéﬁs’fmétmﬁé

HY Hae J8, OF fifanr T fadfont

femdme a3 w3 fooufas =< fa

T &7 ooz ficr aus &9 &3t

JE HETGIl & 399 Haz w3

forfos 393 uge agv I

g5 : fmAs R O =593

HI3TYTE IfHar fsaEer I

fie:

I A3 g U, famrAses
a5l

. S8 < IdG wedt fé'
fimmAges &dt Il

(A) IV fAeT | yse aaer 3

(B) AT fAeT Il yge gaer d

() =T A2 | w3 Il Use aae
IS

(D) & 3 fiAer | &1 I Use
Jae IS

Ist R wig wH Y BUT uT
1[3"3!@:

ZWT, QNK, , YVS, PMJ ZWT, QNK, , YVS, PMJ
(A) HEB (A) HEB
(B) GEA (B) GEA
(C) HER (C) HER
(D) GDB (D) GDB
(Page 30)
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Q71

In this question, three statements have Q71 fer Yy &9, 35 Ius’ 3 gmie @

been given followed by two

conclusions numbered I and II.
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and

definitely ~ follow(s)  from the

information given in the statements.
Statement I : Some roads are rails.
Statement II : Some rails are land.
Statement III : Some land are sea.
Conclusion I : All road are sea.
Conclusion II: Some land are road.
(A)  Only I follows

(B)  Only II follows

(C) BothIand II follows

(D) Neither I nor IT follows

fHS #Aftpor | w3 Aftpar 1 3 a2
I5| gEst feg &3t At Areardt §
Ao Hae J8, oF fifewt e fedfont
fer8ne a3 w3 fegufas ad fa
I wESI & 3T A3 w3

forfes 39 3 Use age JI
9E6 | - 99 AFST, I8 TS|
IES || : 99 IS, 7aHisT IS|
TES |II: IF TAHIST, AHed &1
fier | : Ad AFE, mied I&1
fﬁeru:a_rsmﬁ?s",ﬂaa*a?ﬂ
(A) d<% fAeT | yge gavr
() e fieT Il yger aav I

(c) =©< A2 | w3 Il Use Jae

o

(D) W?fﬁ?la'a’fuuw
Faer 3

QP2-BD/31584
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Q72 Find the missing term in the Q72

following letter series:

OPQ, RST, UVW, XYZ,

(A)  OPQ
(B) ABC
(C) 7YX
(D) CBA

Q73 If P+ Q means P is the sister of Q; Q73

P - Q means P is the father of Qband

P x Q means P is the brother of Q,
which of the following means that

Z is the son of A?

(A) A-ZxM+N

B) M-Z+AxN

(C) A+Z-MxN

(D) NxZ-A+M

Q74 Pointing to a lady, Ram said, "She is Q74
the wife of the son of the only son of
my mother". How is the lady related
to Ram?
(A) Daughter
(B)  Daughter-in-law
(C) Sister
(D)  Mother

It {31 wiyg B3t R gus ue
U3 g3

OPQ, RST, UVW, XYZ,

(A) OPQ

() ABC

(C) zYX

(D) CBA

Adg P+ QT WIE, P, QT 3T T

P-Qe wdHg, P, Q T fusr 3 w3
Px QT wWJg, P, Q © 33" J, 3
Jot fefaw &9 farer wag 3 fa z,
AT UIT I

(A) A-ZxM+N
(B) M-Z+AxN
(C) A+Z-MxN

D) NxZ-A+M

fea Hfos B fergr a8 IR IH S
fagr, "@g A3t 1 2 fead3 Usg @
U33 € y3at A" Hige™ T IH &8

t farsT 32
(A bt
®) &3
(c) 3=
(D) H

QP2-BD/31584
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Q75

Q76

/
/ o/
Maths A ><’1-{ M §J>< C}
/

The given Venn diagram represents Q75 fé3r Ifimr &  fI39(Venn

the students who study Physics,
Chemistry, Maths and Computer
Science. Identify the region which
represents students who study both
Physics and Maths but NOT

Computer Science and Chemistry.

\ £ ,,,/4 \

Y Chemistry

s\ 7 T o /7
o | H\\}(_/ \1 g

) 3 G o
“~ \ R ._,/’
R g
Computer
Science

(A) ELMI
B) HKM,I
(C) LMK

(D) OnlyE

diagram)3"f3‘qr fefamid  (Physics),
gATeed fefdMi's (Chemistry), JIfE3
(Maths) w3 dfu@eg fefomrs
(Computer ~ Science) UFS T
fefenrgdini § wom@e I On
939 @ uew W9 foow fa O
fefenrgsin & Tamger 3 frod fa
3f39 fefumis w2 ez oF yge
I5 ug dfufea fefomrs w3

Physics
A
& i)
A i~ iR
v g X R
e / Chemis
Maths ( A ’L M :t\/ c v
LN LR s %
" RO o \‘\vw....,m..,m—"‘ e
\\,‘__E.M__ e
Computer
Science

(A) E/ L M,I
(B) H, K M,I
© LMK
(D) Gd<SE

SECTION -4/ S'dl -4

Select the most appropriate SYNONYM of the given word. AVARICE

(A) greed
(B)  capacity
(C)  generosity

(D) wealth

5 e e e . . e e e . P e A P it 2
-—

QP2-BD/31584
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Q77

Q78

Q79

Q80

Parts of a sentence are given below in jumbled order. These parts have been labelled

as P, Q, R, and S. Arrange the parts in the right order to form a meaningful sentence.

toys in the shop (P) / the little boy (Q) / to see so many (R ) / was very happy (S)

(A) QSRP
(B) QSPR
(C) RPQS
(D) PSRQ

U3l AT e Al wagn waee JI
(A) Advance

(B) Earned

(C)  Advancement

(D) Advent

Read the following sentence and identify the part that has an error.
The children / have gone / to a hill station / with its parents.

(A)  The children

(B)  have gone

(C)  toahill station

(D)  with its parents

Select the most appropriate ANTONYM of the given word. TWISTED
(A)  straight

(B)  coiled

(C) entwined

(D) distorted
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Read the following passage carefully and answer the given questions from Q 81 to

Q85

The means of payment that exists in purely electronic form is called ‘digital money’.
Electronic money or digital money is not tangible and is accounted for and the transactions
are performed online using computers. Digital money can be exchanged using credit cards,
the internet and smart phones. It can also be turned into physical money like in the cases of

an ATM.

People being what they are get practical about creating their own currency as long as
it is honoured. In Africa, sea shells were used until the 19th century as money. But gold -

practically useless but known for its short supply and lasting quality - has been the most

popular non-currency form of money and is standard for central banks.

Now, in the age of the internet, and digital technologies, money is undergoing an
exciting makeover with talk of virtual currencies, mobile wallets and software applications
that pretty much do what gold has been doing for centuries and currency notes have been
doing for a while. Technologies such as near-field communications are being used to make
the mobile phone an instrument of payment without the customer having to sign a credit

card voucher, thus making it more secure.

In general, software applications are being developed to substitute for money in
various ways. Some companies like Starbucks allow ‘digital tipping’ of its baristas through
a mobile application. Pre-paid cash cards are being used to swipe instruments where
customers do not need credit cards or even bank accounts. The Next Gen ATM machines

will recognise your face through facial biometric technologies.

Bit coin, the most popular virtual currency started circulating in 2009. Its current

market value has been estimated at around 8 billion, to 80,000 transactions occurring daily,
———————————————————————————
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according to reputed accounting firms. However, Washington’s Internal Revenue Service
ruled that bitcoin are not currency but more. likely property - and thus subject to capital

gains tax.

Meanwhile, other virtual currencies are taking off - and influencing politics. In
Iceland, which saw its banking system more or less wiped off, during the 2008 global
financial crisis, there emerged the euro coin, a new currency now estimated to be worth
11.37. This currency is aimed at fighting capital controls imposed by the Iceland

government.

Crypto currencies are a very important milestone in this fight for liberty from
political control. They bring the hope of a new era of free currencies immune to the
meddling of politicians. In addition, money is undergoing an exciting makeover through
innovations  galore. Telecom companies the world over; for instance,
with support from their central banks are offering customers 'mobile money' as a service.
Another innovation that is much talked about is the mobile wallet and companies are
helping their customers carry the equivalent of cash in their handsets

much like one carries travellers’ cheques.

Thus, more and more practical solutions are beings spawned across the planet to

focus not so much on money's 'store of wvalue' but as a medium of

exchange.

Q81 Which technology uses phones as instruments of payment?
(A) Starbucks
(B) Near-field communications.
(C) Internal revenue service
(D) Next gen machines

—————————————————————————————
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Q82  Which of the following has traditionally been the most popular non-currency form

of money?

(A) Gold

(B)  Vouchers

(C)  Mobile wallets
(D)  Cash cards

Q83  What was used by people in Africa as money?

(A)
(B)
©)
(D)

Q84 Choose the correct synonym of the word ‘Meddling’.

(A)
(B)
©)
(D)

Q85 Which currency is used as a weapon to fight capital controls?

(A)
(B)
©
(D)

Metal coins
Sea shells

Marble balls

Currency notes

Heedless
Interfere
Isolate

Inattentive

Euro coin
Bit coin
Doge coin

Lite coin

QP2-BD/31584

(Page 37)



Q86

Q87

Q88

Q89

B {39 T2 U@er Ho=d © wIg AUHS a3l
(A) @EIIE"

(B) BIHS IT&T

(C) oHE II&"

(D) Wesg3se

AR 36____ A 35 A& wHE § YT ad|
(A) TaIT

(B) fimrg

(C) w®mt

(D) =

‘Imaginary’ HEIE € A UATst wigewe I
(A) HIBY
B) foguz
(C) Bz
(D) fEg3Ha
I fofim &S Hu e g2
(A) r

(B)
(©)

(D)

2 9

QP2-BD/31584
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Qo0 ‘€T H fifd ufgses Ws a9 I&, Bul fod HaT el

(A) AT
(B) wH®E
(C) wHF
(D) eI

Joi i3 ged s s U w3 Y91 Iy 95 I € €39 fe®

g aeet 89 T939 fH9373 T HI3TUIs JU I6| AYT T Wt JT Aear
fier 3 ies & wEeE goe I5| fife T AoH Uas fef3oma a5 feg dfemr fent
e 31 ﬁwﬁuémﬁvqﬁmaﬁ#?@né@éméfé@mﬁﬂ?
J2 37 gr WA fifgt T Gese dfowr| 39 w3 I I fewe wBfaa padt 3 =gt B8
W& Ha feg AT 3 WEd © I € SBAgY HEY & wAl, I, UE, HoW, 96 3 Hig

wife § eefawt @ gu feg urAe wds |37l

WeH AHfgd gy feu Afeweed Heas '@ wigw ghar wer dge I fen
B8 H&H wed3s feu 7 a8 der gt 3 §o 95 AT Aufaa gy few miA @8 ye's I8t
ﬂ?@aﬁhé@l%@hjﬂélﬁﬂmﬁﬁﬁmémjﬁﬁmé
TaE T AZ 3 ifed 3 IIAUA Wit fifer f g g et e yEre gemr

Feae, wreg 3 feren o sig €3 Grat g Is|

QP2-BD/31584 | (Page39)



Q91 FHfIE HE § AeE T IR War Wit St 3 2

(A)
(B)
(©)
(D)

gt
o<t o3
Afswrarg

96 3 HaH

Q92 fig T AaH a8 w3 fa< Jfemr 2

(A)
(B)
(©)
(D)

W3faa gt @ 39 58 1982 feg
yg< fefsona 9% feg
UHJ HWar feg

egdl Aol @ iz feg

Q93 figrersl Iam 3 ?

(A)
(B)
©)

(D)

fefgamra #o & naredt 59
gt § sIGE
& ies & ward ST

Q94 ferm U3 e fAgdy 3 :

(A)
(B)
©)
(D)

e €t yfaa3st w3 as™
3J T HGH

e 23 1S

¥5 < fAgAE
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Q95 fiw aE<’ faH T HIITYIS JU TS ?

(A) FHIT
(B) widfag aa3tt
(C) Bgedsqafaaszer
(D) yYfgg3a IInter
SECTION -5
Q96  Which of the following pair of device Q96
- type is correct?
L. IVR - Speech Recognition
Device
II.  ATM - Electronic Card
(A)  Onlyl
(B) OnlyII
(C) BothIandII
(D)  Neither I nor IT
Q97 InMS Word 2019, _ isusedto Q97

find the end of a document.

(A) Alt+End

(B) Ctrl +End

(C)  Ctrl + Shift + End
(D) Ctrl+ Alt + End

gdr-5
Jst fEéfant & faeferyae o
faogr Az At 37
I. IVR - A9 usTe f3efen

.  ATM - fedadfea a3

A) fAge

(B) fAg=1

(C) I1w3nee

(D) &3 Iadtl

MS Word 2019 &g, & <33
TH3=T T W3 B3¢ JE I AT
37

(A) Alt+End

(B)  Ctrl + End

(C)  Ctrl + Shift + End

(D)  Ctrl + Alt + End

e e e e s e e s R

QP2-BD/31584
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Q98 To which generations of computer (98

does ENIAC belong to?
(A)  Second
(B)  Third
(C)  First
(D) Fourth
Q99 Which of the following is a Q99
workbook view in MS Excel 2019?

I. Normal

II. Page Layout

(A) Onlyl

(B) Onlyll

(C) BothIandII
(D)  Neither I nor II

Q100. Which of the following is the Q100

function of a browser?

(A) Compile HTML Code
(B)  Interpret HTML Code
(C)  Pre compile HTML Code
(D) De-compile HTML Code

ENIAC dfugea & faadt Wil &%
Hefz 37

(A) Tt

(B) i

(C) ufgst

(A) o=t

MS Excel 2019 &g, J&° fefanr &5
fagar fea Tgaga fe@ I?

. &IHS

. dadwge

(A) fAggl

B) fAg=1

(C) 1w3nee

(D) &3 Iadl

I fefamr f&d faga fEa geaa ©
FgA 37

(A) HTML d3 § SUEIS S35

(B) HTML 93 & féea]e ag&"
(C) HTML A3 § Jl-dudls a9
(D) HTML 93 § F-HUEs a3
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Read the following instructions carefully:

3 €an gerfest 5 fimis s uF:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as

these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

5. Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over

OMR Answer Sheet to the Invigilator.

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

8. The candidates Rules and

Regulations of the Recruitment Board with regard to

are governed by all

their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

4

10. The Candidates are required to submit the Test
Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

1. o9 yrs a8t 23 o os feamut Y, @ileea & &g €39
Hie 3 8 a8 unifée ds o5 aes ffa feasu § €39 < 3o
I J| f¥x =9 fds3 A3 a €39 § wefor adf 7 Aaer

2. Siess § foo wdld sede gdter 3 7 €39 fie vt & R
Sritees § €39 fic '3 foug-Gus A& & foms adf BargE
gder) Ofiees § S hing €39 Hie e fogues mf 3
fegrer I3 fa3 & wuer I8 du3 adf fower grdier

gade Aildi foue Je3t 7 Sre gade 3 20 I8 I5)

4. foa9s gorer Hat AE 3 Srileea § wuE e I93 fewrger
I

5. fesms # deg @ gugde I ferm wimr 32 far, g &
riterrs wEt Fre/Afifemr Seg &dt €3 AeeT/Aae |

6. Sieee § vt ISt Hie 3 gz &3 fawt w3 €39 Hie
38 foues § AU fast ifimr o8 3 ggg 7e & wiomi &t
3

7. Yofis/fedadfsa/ Mons aeaded o T33 996 & Hardt J1

8. ffimr 5 &9 Gus' @ wradE © Helg e Siees Uarg ufsr
II3 593 © A fou w3 fefam wiltes J=dt wefos a1 2
A HHfEw & 993t 893 @ fourt w3 fefsmt wigrrg fsuerfanr
el

9. ftmr w3H JT 3 g, Grleed wuE Emhine €39 Hie,
¥ €239 o andt fsges § TUR Sdar/a3dl fsaes 28
e & Gohivrg andt filse 3 gme &t Sfee s iftmr o8
&3 Aaer J|

10. it 3 smre et § wrudt 20z Hade faaras a8 mf
FoTeR JM)

11. =gt Yfemr fifge @ yois I 3 2u fens @ wieg-nles 333t
ges €3 sfdd gefent Be yrs Uss Qussa J=ar|

A3

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.
&< Agg vnrst 3 et gerfest feg JEt @ wizg urfenr AT 3 37 wiesH IET TE geTfes yHrEe Jeet




